Physics S

Loop the Loop

Here you will figure out how high you must release a steely to make it "Loop the Loop" 

1. You and a partner (Work in groups of 2) need to measure the radius of the loop, and make a conservation of energy calculation to figure out how high you need to release the marble from to make it go around the loop.  Remember that at the top of the loop the centripetal acceleration must be "g".  The kinetic energy of a marble rolling along a track made by a right angle is actually 9/10mv2 and not 1/2mv2.  (Why? = E.C.)

2. Try the height you calculated.  Try slightly less and more than this height until you find what the actual height is.

3. Turn in the following:

A) Your very own sketch of the loop the loop complete with measurements.  Not necessarily neat but readable.

B) Your calculations of the height.  The equations and all.

C) A comparison of the height you calculated and the height that worked. 

D) This sheet with no marks on it or staples through it.

That's it - it's informal.

Physics S

Loop the Loop

Here you will figure out how high you must release a steely to make it "Loop the Loop" 

1. You and a partner (Work in groups of 2) need to measure the radius of the loop, and make a conservation of energy calculation to figure out how high you need to release the marble from to make it go around the loop.  Remember that at the top of the loop the centripetal acceleration must be "g".  The kinetic energy of a marble rolling along a track made by a right angle is actually 9/10mv2 and not 1/2mv2.  (Why? = E.C.)

2. Try the height you calculated.  Try slightly less and more than this height until you find what the actual height is.

3. Turn in the following:

A) Your very own sketch of the loop the loop complete with measurements.  Not necessarily neat but readable.

B) Your calculations of the height.  The equations and all.

C) A comparison of the height you calculated and the height that worked. 

D) This sheet with no marks on it or staples through it.

That's it - it's informal.

